#3 Show by contour integral, that if
$$a > 0$$
, $\xi \in \mathbb{R}$, we have

$$\frac{1}{\pi} \int_{-\infty}^{\infty} \frac{a}{a^2 + \chi^2} e^{-2\pi i \times \xi} dx = e^{-2\pi a |\xi|}$$
and that

$$\int_{-\infty}^{+\infty} e^{-2\pi a |\xi|} e^{2\pi i \times \xi} d\xi = \frac{1}{\pi} \frac{a^2}{a^2 + \chi^2}$$

Sol'n : (a) if $\exists \neq 0$, we can complete the contour by (f)since $\operatorname{Re}(-2\pi i \cdot z \cdot z) = \operatorname{Im}(2\pi z \cdot z) = 2\pi \cdot z \operatorname{Im}(z) \rightarrow -\infty$ as $\operatorname{Im}(z) \rightarrow -\infty$.

we get $\int_{-\pi} \frac{a}{(a^2 + z^2)} e^{-2\pi i \cdot z \cdot s} dz$ $= -2\pi i \cdot Re_{z-ai} \quad \frac{a}{\pi (a^2 + z^2)} e^{-2\pi i \cdot z \cdot s}$ $= -2\pi i \quad \frac{a}{\pi (-2ai)} \cdot e^{-2\pi a \cdot s} = e^{-2\pi a \cdot s}$ Similarly, if s = 0, we may complete the contour s

(b)
$$\int_{-\infty}^{+\infty} e^{-2\pi a|s|} e^{2\pi i x \cdot s} ds$$

= $\int_{0}^{\infty} e^{-2\pi a s} + 2\pi i x s} ds + \int_{-\infty}^{0} e^{2\pi a s} + 2\pi i \cdot x s} ds$
= $\int_{0}^{\infty} e^{-2\pi (a - ix)} s ds + \int_{0}^{\infty} e^{-2\pi (a + ix) \cdot p} dp$
= $\frac{1}{2\pi (a - ix)} + \frac{1}{2\pi (a + ix)} = \frac{1}{2\pi} \frac{(a + ix) + (a - ix)}{a^2 + x^2}$
= $\frac{a}{\pi} \frac{1}{a^2 + x^2}$

$$\frac{\#4}{2}: Suppose Q is a polynomial of degree \ge 2.,$$

with distinct roots, none lying on the real axis.
Calculate
$$I = \int_{-\infty}^{+\infty} \frac{e^{-2\pi i \times s}}{Q(x)} dx$$

in terms of the roots. What if the roots
have multiplicities?

• If
$$3 < 0$$
, then $arrow e^{-2\pi i z s}$
 $I = 2\pi i \sum_{a \in R_{+}} \operatorname{Res}_{z=a} \frac{e^{-2\pi i z s}}{Q(z)} = 2\pi i \sum_{a \in R_{+}} \frac{e^{-2\pi i \cdot 0 \cdot s}}{Q(a)}$

· If $\xi = 0$, then we can use either contour, and get

$$I = 2\pi i \sum_{\alpha \in R_{+}} \frac{1}{Q(\alpha)} = -2\pi i \sum_{\alpha \in R_{-}} \frac{1}{Q'(\alpha)}$$

Indeed

$$\sum_{\substack{\alpha \in \mathbb{R}_{+}\cup\mathbb{R}_{-}}} \frac{1}{\mathbb{Q}'(\alpha)} = \oint_{\substack{\alpha \in \mathbb{R}_{+}\cup\mathbb{R}_{-}}} \frac{1}{\mathbb{Q}(z)} \frac{dz}{2\pi z} = 0.$$

Hence the above 2 expressions for I agree.

Consider a simple example, say
$$I_m(a_i) > 0$$

(*) $4 = \frac{e^{-2\pi i \cdot 2 \cdot 5}}{(z-a_1)(z-a_2)} dz = 2\pi i \cdot \frac{e^{-2\pi i \cdot a_1 \cdot 5}}{a_1 - a_2} + \frac{e^{-2\pi i \cdot a_2 \cdot 5}}{a_2 - a_1}$

$$(**) \stackrel{\leftarrow}{\rightarrow} \frac{e^{-2\pi i \cdot 2 \cdot j}}{(2-a_1)\cdots(2-a_3)} dz = 2\pi i \cdot \left(\frac{e^{-2\pi i \cdot a_1 \cdot j}}{(a_1-a_2)(a_1-a_3)} + \frac{e^{-2\pi i \cdot a_2 \cdot j}}{(a_2-a_1)(a_2-a_3)}\right) + \frac{e^{-2\pi i \cdot a_3 \cdot j}}{(a_3-a_1)(a_3-a_2)}$$

on the RHS, we need to use some trick to see this.
Say
$$a_i \rightarrow a$$
. (et $f(z) = e^{-2\pi i \cdot z \cdot z}$.
Then $f(a_i) = f(a) + (a_i \cdot a) f(a) + \frac{1}{2!} (a_i \cdot a)^2 f''(a) + \cdots$

we note
$$\sum_{i=1}^{3} \left(\prod_{j \neq i} \frac{1}{(a_i - a_j)} \right) = \oint \frac{Z}{(Z - a_i)(Z - a_i)(Z - a_i)} \frac{dZ}{2\pi i} = 0$$

$$\sum_{i=1}^{3} \left(\prod_{j \neq i} \frac{1}{(a_i - a_j)} \right) \cdot a_i = \oint_{\substack{z \neq a_i \\ |z| = R \gg |}} \frac{z}{(z - a_i)(z - a_i)(z - a_i)} \frac{dz}{2\pi i} = 0$$

$$\sum_{i=1}^{3} \left(\prod_{j \neq i}^{1} \frac{1}{(a_{i} - a_{j})} \right) \cdot a_{i}^{2} = \oint_{\substack{i=1 \\ |z| = R \gg i}} \frac{z^{2}}{(z - a_{i})(z - a_{i})(z - a_{j})} \frac{dz}{z \pi i}$$

$$= \oint_{\substack{i=1 \\ |z|}} \left(\frac{1}{z} + \frac{\#}{z^{2}} + \frac{\#}{z^{2}} \cdots \right) \frac{dz}{z \pi i}$$

$$= 1$$

Thus
$$\begin{pmatrix} \lim_{a_i \neq a} \frac{3}{j = i} & \frac{f(a_i)}{\pi} \\ a_i \neq a & \lim_{j \neq i} \frac{1}{j \neq i} & a_i = a_j \end{pmatrix}$$

)

,

$$= \lim_{\substack{a_i \to a \\ a_i \to a}} \sum_{i=1}^{3} \frac{f(a) + (a_i - a)f'(a) + \frac{1}{2}(a_i - a)^2 f''(a) + O(b_i - a)^3)}{\prod_{j \neq i} (a_i - a_j)}$$

$$= \lim_{\substack{a_i \to a \\ a_i \to a}} \left[\frac{1}{2} f''(a) \right] + \frac{2}{\sum_{i=1}^{3}} \frac{O((|a_i - a|^3))}{\prod_{j \neq i} (a_i - a_j)}$$

$$= \frac{1}{2} f''(a).$$

$$\frac{\#6}{\pi} \quad Prove \quad \text{that} \\ \frac{1}{\pi} \sum_{n=-10}^{+10} \frac{a}{a^2 + n^2} = \sum_{n=-10}^{+10} e^{-2\pi a |n|}$$

$$\frac{\#8}{48} \quad \text{Suppose} \quad \hat{f} \quad \text{is supported in E-M, M]. (at $f(z) = \sum_{n=0}^{\infty} a_n z^n + \sum_{n=0}^{\infty} f(z) \cdot y^n dy$

$$a_n = \frac{(2\pi i)^n}{n!} \int_{-M}^{M} \hat{f}(z) \cdot y^n dy$$
and
$$\lim_{n \to \infty} \sup_{n \to \infty} (n! |a_n|)^n \leq 2\pi M \quad (\# *)$$

$$Convolvely, \quad \text{if } (\# *) \text{ holds, show that } f(z) \text{ is hol's in } C.$$

$$\forall \le 2\pi, \quad \exists A_{\le} 2\pi, \quad \text{s.t.}$$

$$|f(z)| \in A_{\le} e^{2\pi i (M+\le)|z|}.$$$$

$$\begin{split} pf &: (1) \\ & a_{n} = \int^{(n)}_{-n} (5) \cdot \frac{1}{h!} \\ &= \frac{1}{h!} \left(\frac{d}{dz} \right)^{n} \int_{-M}^{M} \hat{f}(s) e^{2\pi i \cdot z \cdot s} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \cdot \left(\frac{d}{dz} \right)^{n} e^{2\pi i \cdot z \cdot s} ds \\ &\uparrow \int_{-M}^{N} \hat{f}(s) \cdot \left(\frac{d}{dz} \right)^{n} e^{2\pi i \cdot z \cdot s} ds \\ &\downarrow \int_{-M}^{N} \hat{f}(s) \left(2\pi i \cdot s \right)^{n} ds \\ &\downarrow \int_{-M}^{N} \hat{f}(s) \left(2\pi i \cdot s \right)^{n} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \left(2\pi i \cdot s \right)^{n} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \left(5 \right) \frac{1}{h!} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \frac{1}{h!} \int_{-M}^{N} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \frac{1}{h!} \int_{-M}^{N} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} \int_{-M}^{N} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} \int_{-M}^{N} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} ds \\ &= \frac{1}{h!} \int_{-M}^{M} \hat{f}(s) \frac{1}{h!} \frac{1}{h!} \frac{1}{h!} \int_{-M}^{N} \hat{f}(s) \frac{1}{h!} \frac{1}$$

Hence
$$\limsup_{n \to \infty} (n! |a_n|)^n$$

 $= \limsup_{n \to \infty} (2\pi) \cdot (\int_{-M}^{M} \hat{f}(s) \cdot s^n ds)^n$
 $\leq \limsup_{n \to \infty} (2\pi) \cdot (\sup_{s \in \mathcal{I} \setminus \mathcal{I}} \int_{-M}^{n} \cdot \left[\frac{M^{n+1}}{n+1} - \frac{C - M^{n+1}}{n+1} \right]^n$
 $= 2\pi \cdot M.$
 $(:: \lim_{n \to \infty} c^{-n} = 1, \forall c > 0.)$

(b) For the converse direction:

$$\begin{aligned} \forall s > 0, \quad (at \ N_s > 0 \ s.t. \ we \ have \\ & \left(n! \ |a_n|\right)^n < 2\pi \ (M+s) \qquad \forall n > N_s, \\ Thus \sum_{n=N_s}^{\infty} |a_n| \cdot |z|^n < \sum_{n=N_s}^{\infty} \frac{(2\pi \ (M+s))^n}{n!} \cdot |z|^n \\ & \leq e^{2\pi \ (M+s) \ |z|}. \end{aligned}$$

Now
$$\sum_{n=0}^{N_{s-1}} |a_n| |z|^n$$
 is bounded at $|z| \rightarrow \infty$
 $e^{2\pi (M+s) |z|}$ N_{s-1}

hence let
$$A'_{\varepsilon} = \sup_{\substack{n=0 \\ l \neq l \in C}} \sum_{\substack{n=0 \\ r \neq 0}} |a_n| |z|^n$$

let $A_{\varepsilon} = l + A_{\varepsilon}'$.

Then

$$\begin{aligned} \left| f(z) \right| &\in \sum_{n=0}^{\infty} (a_n| \cdot |z|^n \\ &= \sum_{n=0}^{N_z^{-1}} (a_n| \cdot |z|^n + \sum_{N_s}^{\infty} |a_n| \cdot |z^n| \\ &\leq A_z \cdot e^{2\pi (M+s) |z|} \\ &= A_z \cdot e^{2\pi (M+s) |z|}. \end{aligned}$$

$$\frac{\#9 \text{ (a)}}{\text{half plane. Continuous on the boundary:}}$$
Suppose $|F(iy)| \leq 1$ $\forall y \in \mathbb{R}$

and
$$|F(z)| \in A \in B|z|^{r}$$
 for $z < r < 1$
Then., show $|F(z)| < 1$.

$$\begin{split} \hat{P}_{f} : & [at \ r < P < I, \quad then \quad \forall \epsilon > 0, \quad (et \\ F_{\epsilon}(z) := f(z) \cdot e^{-\epsilon z^{P}} \\ & then \quad F_{\epsilon}(z) \quad is \quad still \quad hol'c \quad on \quad the \ right \ half \ plane. \\ & |F_{\epsilon}(z)| = |F(z)| \cdot e^{-\epsilon x^{P} \cos(p\theta)} \\ & Z = -e^{i\theta} \end{split}$$

$$say = \inf_{\substack{n \neq \\ o \in (\frac{\pi}{2}, -\frac{\pi}{2})}} (OS(p0) = C \ge 0, \text{ fluen}$$

$$\leq A \in e^{- \varepsilon \cdot S^{P} + BS^{T}}$$

$$As = S \rightarrow tN, \text{ flue above bound } = 0.$$

Hence $|F_{\Xi}(t)| \rightarrow 0 \propto |z| \rightarrow \infty$ in the right half plane.

Rest of the proof is the same as in the book.